

Reappear Grade Sheet of B.Tech. BT 3rd_Semester_December'2019

		Basi		ics & Bus J011 Hours- 3	Total	Total	Grade		
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average	
1	150282	В	3.00	7.00	21.00	3.00	21.00	7.00	

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination



Reappear Grade Sheet of B.Tech. BT 4th_Semester_December'2019

	Reg. No.	Fermentation Technology CSU006 Credit Hours- 3				CSU	etics J010 Hours- 4		Fund	CSU	ntals of Microbiology Biochemistry and Metabolism CSU008 CSU009 Credit Hours- 4 Credit Hrs - 4						m . 1	Total	Grade	
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Total Registered Credit	Point	Point Average
1	150282	С	3.00	5.00	15.00	В	4.00	7.00	28.00	С	4.00	5.00	20.00	C	4.00	5.00	20.00	15.00	83.00	5.53

Date of Issue: 11.02.2020 Prepared By Checked By



Reappear Grade Sheet of B.Tech BT 5th_Semester_December'2019

	Reg. No.	Analo	CSU	gital Electi J060 Hours- 4	ronics			echnology J061 Hours- 3	Total	Total	Grade	
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	151013	B+	4.00	8.00	32.00	В	3.00	7.00	21.00	7.00	53.00	7.57

Date of Issue: 11.02.2020 Prepared By Checked by

Controller of Examination



Reappear Grade Sheet of B.Tech. BT 6th_Semester_December'2019

	Reg. No.		CSU	ormatics J065 Hours- 4]	CSU	ue Culture J066 Hours- 4	Total	Total	Grade	
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150098	C	4.00	5.00	20.00	В	4.00	7.00	28.00	8.00	48.00	6.00

Date of Issue: 11.02.2020 Prepared By Checked by

Controller of Examination



Reappear Grade Sheet of B.Tech. BT 7th_Semester_December'2019

	Reg. No.	Bi		Engineeri J067 Hours- 4	ng	Re		t Technolo J004 Hours- 4	Total	Total	Grade	
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150706	C	4.00	5.00	20.00	С	4.00	5.00	20.00	8.00	40.00	5.00

Date of Issue: 11.02.2020 Prepared By Checked by

Controller of Examination



Reappear Grade Sheet of B.Tech. BT 8th_Semester_December'2019

Sr. No	Reg. No.	Envi		Biotechno J275 Hours- 4	ology	Ge		z Proteom J019 Hours- 4	ics	D		n Processi J020 Hours- 4	Total	Total	Grade	
		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150706	D	4.00	4.00	16.00	F	4.00	0.00	0.00	С	4.00	5.00	20.00	12.00	36.00	3.00
2	151013	N.A				F	4.00	0.00	0.00	D	4.00	4.00	16.00	8.00	16.00	2.00

Note: F grade course to be repeated

Date of Issue: 11.02.2020 Prepared By Checked By Controller of Examination